### Corrigendum-I

**Subject: E-Tender for "**Petty Plumbing and Sanitary works including disinfection of water reservoirs at Dock-II (E & W), Sister Nivedita Abasan, Kantapukur, CISF Barrack for a period of one year from the date of issuance of work order" vide NIT No. SE/KP/23-24/051/D/04 dated 30.06.2023.

There is modification in Price Bid Part (BOQ) of this NIT of Page No. 38,39 & 40, Kindly read inplace of:-

Item No.	Description Of Work	Quantity	Unit	Rate Rs. P.	Amount Rs. P.
1	Dismantling all types of masonry excepting cement concrete plain or reinforced, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 mIn ground floor.	20.00	Cum	447.00	8940.00
2	Dismantling of all types of plain cement concrete works upto 150 mm thick stacking serviceable materials at site and removing rubbish as directed within a lead of 75 metre in ground floor including roof.	10.00	Cum	939.00	9390.00
3	Labour for scrapping and picking up old dilapidated morter/plaster (Cement/Surki/ Lime morter) from the surface of old brick faces including cleaning the frog without damaging the brick and stacking the bricks at site /stacking yard as per dtrection of Engineering In Charge including removing all debris rubbish from site complete.	14000.00	Nos	950.00	13300.00
4	Brick work with 1st class bricks in cement mortar (1:6) In foundation & plinth	16.00	Cum	5413.00	86608.00
5	In superstructure, ground floor	45.00	Cum	5636.00	253620.00
6	Bricks work with 2nd class bricks in cement mortar (1:6) in foundation and plinth.	40.00	Cum	4360.26	174410.40
7	M.S. structural works in columns, beams etc. with simple rolled structural members (e.g. joists, angle, channel sections conforming to IS: 226, IS: 808 & SP (6)- 1964 connected to one another with bracket, gussets, cleats as per design, direction of Engineer-incharge complete including cutting to requisite shape and length, fabrication with necessary bolting, metal arc welding conforming to IS: 816- 1956 & IS: 1995 using electrodes of approved make and brand conforming to IS:814- 1957, haulage, hoisting and erection all complete. The rate includes the cost of rolled steel section, consumables such as electrodes, gas and hire charge of all tools and plants and labour required for the work including all incidental chages such as electricity charges, labour insurance charges etc. Payment to be made on the basis of calculated weight of structural members only in finished work as per IS specified weight. Payment for gusset, bracket, cleat, rivets, bolts and nuts may be make by adding the actual weight of such items with the weight of finished structural members or 7% of weight for finished structural members weighing less than 22.5 Kg. / m. or 15 % of weight for finished Structure members weighing less than 22.5 Kg. / m. may be increased allow for bracket, cleat, rivet, bolts and nuts		MT	72603.00	87123.60

	etc. and no separate payment being made for these items, as per direction of Engineer In Charge. The rates are considered for a height of erection 8m. / 2nd floor level from the ground. Add 1.5% extra over the rate for each additional floor or 4m. beyond initial 8m. or part thereof. For Structural Works in Roof Trusses etc. using joists, channels and angles of specified section weighing less than 22.5 kg/				
8	Rule pointing to brick work in cement morter (1:4) including raking out joint.raking out joints and top finishing.	400.00	Sqm	82.00	32800.00
9	Flush pointing to brick work in cement morter (1:4) including raking out joints.	400.00	Sqm	79.00	31600.00
10	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Excluding cost of chipping over concrete surface] With 1:6 cement mortar 15 mm thick plaster internal -In gr. Fl.	200.00	Sqm	151.00	30200.00
11	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in gound floor as per relevant IS codes. Pakur Variety	30.00	Cum	5533.34	166000.20
12	Hire and labour charges for shuttering with centering and necessary staging upto 4m using approved stout props and thich hard wood planks of approved thickness with required bracing of concrete slabs, beam and columns, lintels curved or straight including fitting, fixing and striking out after completion of works upto roof of ground floor 25mm to 30mm shuttering without staging in foundation.	120.00	Sqm	209.00	25080.00
13	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly (plastered or concrete surface) as per manufacturer's specification. Two coats.	1200.00	Sqm	49.00	58800.00
14	Paintitng with ready mixed red lead paint of approved make and brand. One Coat.	10.00	Sqm	31.00	310.00
15	Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary On steel or other metal surface: - With super gloss (hi-gloss) - Two coats (with any shade except white)	10.00	Sqm	79.00	790.00
16	Supplying fitting and fixing 600 mm (±30 mm) diametre R.B.T (Reinforced Barbed Tape) Concertina fencing on wall top using concertina coils stretched to approx.6 meters length at site clipped with two nos. of horizontal R.B.T strands which will be tensioned and fixed with the vertical M.S angle iron posts by means of security fasteners (such as 'C' clips, R.B.T clips etc.) (The rate is exclusive of the cost of posts)	200.00	Mtr	408.00	81600.00

17	Supplying, fitting galvanised 3 ply 12 gauge / 4 points line of	1200.00	Mtr	2768.00	33216.00
	barbed wire in fencing (holes already made in the body of the post)				
	or fixed by staples tightening and fixing the wires in taut condition				
	with straining bolts including the cost of cutting and of lapping				
	joints in the wire as necessary but excluding the cost of galvanised				
	staples, straining bolt and binding wire where necessary. (Payment				
	to be made on the length of individual lines of wire.)				
18	Labour for taking out (from fencing) line of wire (galvanised,	200.00	Mtr	128.00	256.00
	strand or barbed) including the cost of taking out staples (by				
	cutting or otherwise, as necessary).(Payment will be made on the				
	length of the wire taken out.)				
		To	otal A	mount= Rs	1094044.20

**B.F** from pre page

Total = Rs. 1094044.20

(Rupees Ten Lakhs Ninety Four Thousand Forty Four and paisa twenty only)

Kindly read as below:-

## NIT No. SE/KP/23-24/051/D/04 Dt: 30.06.2023

### PRICE BID

<u>Work:</u> E- Tender for "Petty Plumbing and Sanitary works including disinfection of water reservoirs at Dock-II (E & W), Sister Nivedita Abasan, Kantapukur, CISF Barrack for a period of one year from the date of issuance of work order."

Item	Description Of Work	Quantity	Unit	Rate	Amount
no.					
1	Supply, fit and fix G.I. pipes of TATA make with all necessary accessories, specials viz. socket,bend,tee,union,cross,elbow,nipple,long screw, reducing socket. reducing tee, short piece etc., fitted with holder bat clamps, including cutting pipes, making threads, fitting and fixing etc., complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint in any position above ground. (Payment will be made on the centre line measurements of total pipeline including all specials. No separate payment will be made for accessorie,				
	specials). For exposed work.	150.00		102.00	20000 00
	(i) 15 mm dia medium quality	150.00 100.00	m	192.00 226.00	28800.00 22600.00
	(ii) 20 mm dia medium quality		m		
	(iii) 25 mm dia medium quality	90.00	m	305.00	27450.00
	(iv) 40 mm dia medium quality	40.00	m	415.00	16600.00
	(v) 50 mm dia medium quality	40.00	m	540.00	21600.00
	(vi) 80 mm dia medium quality	10.00	m	818.00	8180.00
2	Supply, fit and fix in position G.I. pipes of TATA make for underground works with all necessary accessories, specials viz., socket, bend, tee, union, cross, elbow, nipple, short piece etc., including cost of all materials, jointing materials cutting pipes making threads, cutting trenches upto 1.5 metre below surface in all sorts of soil and refilling the same as directed two coats of painting on G.I. pipes and specials with bituminous paint complete in all respect.				
	(i) 15 mm dia medium quality	40.00	m	214.00	8560.00
	(ii) 20 mm dia medium quality	40.00	m	240.00	9600.00

(iii) 25 mm dia medium quality	80.00	m	319.00	25520.00
(iv) 40 mm dia medium quality	50.00	m	400.00	20000.00
(v) 50 mm dia medium quality	50.00	m	520.00	26000.00
(vi) 80 mm dia medium quality	10.00	m	798.00	7980.00
3 Labour for fitting and fixing G.I. pipes above				
ground (exposed) in structures with holder bat				
clamps including cost of jointing				
materials, holder bat clamps etc., as necessary,				
including cutting pipe, making threads etc.				
complete in all respect with two coats of				
painting with approved paint any height.				
(Payment will be made on the centre line				
measurement of the total pipeline including				
specials. Payment of painting will be paid				
seperately) (i) 15 mm dia	200.00	m	46.00	9200.00
(i) 13 mm dia	100.00	m	53.00	5300.00
(iii)25 mm dia	200.00	m	54.00	10800.00
(iv) 40 mm dia	180.00		92.00	16560.00
(v) 50 mm dia	100.00	m	93.00	9300.00
(vi)80 mm dia	50.00	m	94.00	4700.00
	30.00	m	94.00	4/00.00
4 Labour for fitting and fixing G.I. pipes for under				
ground work including cost of jointing materials, cutting pipes, making threads etc. complete in all				
respect including cutting trenches upto 1.5 metre				
below surface in all sorts of soil and refilling the				
same as directed with two coats of painting to				
G.I. pipes and specials with bituminous paint.				
(Payment will be made on the centre line				
measurement of the total pipeline including				
specials. Payment of painting to be paid				
seperately.)				
(i) 15 mm dia	40.00	m	61.00	2440.00
(ii) 20 mm dia	80.00	m	68.00	5440.00
(iii) 25 mm dia	150.00	m	68.00	10200.00
(iv) 40 mm dia	200.00	m	88.00	17600.00
(v) 50 mm dia	175.00	m	89.00	15575.00
(vi) 80 mm dia	45.00	m	90.00	4050.00
5 Labour for dismantling G.I. pipes with fittings				
(i) 15 mm dia	270.00	m	6.00	1620.00
(ii) 20 mm dia	250.00	m	6.00	1500.00
(iii) 25 mm dia	400.00	m	6.00	2400.00
(iv) 40 mm dia	400.00	m	8.00	3200.00
(v) 50 mm dia	300.00	m	8.00	2400.00
(vi) 80 mm dia	80.00	m	11.00	880.00

5	Renew cast iron inspection door with bolts and nuts complete for fittings of 50 mm dia to 150 mm dia H.C.I pipe	60.00	Nos.	86.00	5160.00
7	Dismantle and refix washbasin with or without waste fittings with brackets	12.00	Nos.	105.00	1260.00
3	Supplying, fitting and fixing the following approved quality materials including taking out old one				
	(a) 25 mm dia gun metal wheel valve of approved brand and make tested to 21 kg / Sq.cm (for water lines only ).	10.00	Nos.	816.90	8169.00
	(b) 40 mm dia gun metal wheel valve of approved brand & make tested to 21 kg/ Sqcm. (For water lines only )	5.00	Nos.	1669.50	8347.50
	© Supplying, fitting and fixing approved brand P.V.C. CONNECTOR white flexible, with both ends coupling with heavy brass C.P. nut, 15 mm dia 450 mm long	30.00	Nos.	86.10	2583.00
	(d) Alloy iron with brass spindle bib cock / stop cock of approved brand and make tested to 21 kg / Sq.cm (for water lines only ).	70.00	Nos.	177.45	12421.50
	(i) 15 mm dia.				
	(e)Supplying, fitting and fixing pillar cock of approved make. a) (i) CP Pillar Cock - 15 mm. (Equivalent to Code No. 507 & Model - Tropical / Sumthing Special of ESSCO or similar brand).	15.00	Nos.	582.75	8741.25
	(f)Supplying, fitting and fixing Waste fittings complete (a) C.P. over brass 32 mm dia	10.00	Nos.	199.50	1995.00
	(g) Dismantling flush pipe and Supplying, fitting and fixing 32 mm dia. Flush Pipe of approved make with necessary fixing materials and clamps complete. i) Polythene Flush Pipe	20.00	Nos.	172.00	3440.00
	(h)Supplying, fitting and fixing approved brand 32 mm dia.P.V.C. waste pipe with PVC coupling at one end fitted with necessary clamps.900 mm long	30.00	Nos.	78.75	2362.50
	(i)Supplying, fitting and fixing shower of approved brand and make of polythene over headed of 15 mm X 125 mm size including dismantling the same	30.00	Nos.	161.70	4851.00

	(j)Renewing high pressure polythene ball cock of approved quality with polythene ball and aluminium lever complete for pipe of dia.: (1) 15 mm	20.00	Nos.	71.00	1420.00
	(2) 25 mm	15.00	Nos.	120.00	1800.00
	(k) Supplying, fitting and fixing 15 mm dia self closing C.P water tap of approved brand	20.00	Nos	286.65	5733.00
	(l)Supplying, fitting and fixing Check Valve (Vertical) G.M Tested to 21 Kg./Sq.cm after taking out old one				
	(i) 50 mm dia	4.00	Nos.	1447.00	5788.00
	(ii) 40 mm dia	4.00	Nos.	848.00	3392.00
	(iii) 25 mm dia	4.00	Nos.	409.00	1636.00
	(m) Supplying, fitting and fixing alloy iron with brass spindle bib cock/stop cock of approved brand and make, spray painted and tested to 21 kg per sq. cm 15 mm	30.00	Nos.	169.00	5070.00
9	Supply, fit and fix 150 mm dia C.I Round grating including taking out the old one	50.00	Nos.	89.25	4462.50
10	Dimantling Indian type W.C including taking				
	out base concrete as necessary and supplying, fitting and fixing 580 mm Shallow water closet Indian pattern (I.P.W.C.)	15.00	Nos	1018.00	15270.00
11	Supply, fit and fix 275 mm X 125 mm foot rest for water closet including dismantling the old foor rest of (IPWC)				
	(a) Artificial stone (1:2:4) with 6 mm stone chips and chequered including adding colour as necessary	10.00	Pairs	76.00	760.00
12	Dismantle wash basin with brackets with or without waste, fittings and provide, fit and fix 550 mm X 400 mmsize white vitreous china best quality approved make wash basin with new C.I brackets on 75 mm X 75 mm wooden blocks C.P waste fitting of 32 mm dia one approved quality brass C.P pillar cock of 15 mm dia C.P china with rubber plug of 30 mm dia approved quality PVC waste pipes with C.P nut 32mm dia 900 mm long approved quality PVC connection pipe with heavy brass C.P nut including mending good all damages and painting the brackets with two coats of approved paints	15.00	Nos	2243.00	33645.00

13	Supplying fitting & fixing 10 litre PVC low down cistern conforming to I.S specification with P.V.C fittings complete C.I brackets including two coats of painting to brackets etc.	15.00	Nos	1065.75	15986.25
14	Diamantle the following Cast Iron soil pipe with supplying, fitting & fixing Cast iron soil pipe only conforming to I.S.3989 /1970 and I.S. 1729/1964 with bobbins, nails etc. including making holes in the wall, floor etc. and cutting trenches etc. in any floor through masonry concrete, if necessary, and mending good damages with necessary jointing materials and painting two coats to the exposed surface with approved paint complete. (Measurement will be made along the center line of the total pipe line in fitted condition including specials, payment for specials & Painting will however be paid seperately).				
	With valamoid joints including sealing with sand cement morter (4:1)	30.00	m	752.00	22560.00
	upto quarter depth 100 mm dia. (internal).				
	(b)Supplying, fitting & fixing Cast iron single branch equal with door conforming to I.S. 1729/1970 including joining and painting two coats to the exposed surface with approved paint complete. (Payment of Painting will however be paid seperately).  (a) With valamoid joints including sealing the top with cement mortar (4:1) 100 mm dia.	10.00	Nos	833.70	8337.00
	(c)Supplying, fitting & fixing H.C.I. bend with door conforming to I.S.S. including jointing complete and painting two coats to the exposed surface with approved paint complete. (Payment of Painting will however be paid seperately).  (a) With valamoid joints including sealing the top with cement mortar (4:1) 100 mm dia	15.00	Nos.	570.15	8552.25
15	Supply, fit and fix cast iron 'P' trap conforming to IS 3989/1970 and 1729/1964 including lead caulked joints and painting two coats to the exposed surface complete including taking out old trap. (Painting to be paid separately) 100 mm	10.00	Nos	995.40	9954.00
16	Supply of long screw (150 mm long) of TATA make with socket (TATA make)				
	(i) 15 mm dia	40.00	Nos	32.00	1280.00
	(ii) 20 mm dia	20.00	Nos	45.00	900.00

	(iii)25 mm dia	20.00	Nos	59.00	1180.00
	(iv)40 mm dia	30.00	Nos	98.00	2940.00
	(v)50 mm dia	10.00	Nos	140.00	1400.00
17	Labour for fitting, fixing GI specials including cost of jointing materials				
	a)Long screw, cross, union				
	i) upto 25 mm dia	80.00	Nos	7.00	560.00
	ii)above 25 mm dia upto 50 mm dia	40.00	Nos	10.00	400.00
18	Dismantle and refix 100 mm dia HCI pipe with fitting including melting of lead caulked joints with old molten lead.	60.00	m	135.00	8100.00
19	Remove chokage of water closet	200.00	Nos	26.00	5200.00
20	Supply of UPVC Pipes (B- Type) & fittings conforming to IS - 13592 -1992. Single socketed 3 Meter length of 110 mm including dismantling the existing old pipe.	50.00	m	306.60	15330.00
21	Remove chokage of H.C.I or S.W pipe with split bamboo				
	(a) Underground	150.00	m	11.00	1650.00
	(b) Over Ground	150.00	m	9.00	1350.00
22	Supplying, fitting and fixing 40 mm. dia PVC pipes of approved make of ( medium duty ) conforming to ASTM D- 1785 and threaded to match with GI pipes as per IS: 1239 (Part - I) with all necessary accessories, specials viz socket, bend, tee, union, cross, elbow, nipple, long screw, reducing socket, reducing tee, short peice etc. fitted with holder bats clamps, including cutting pipes, making threads, fitting, fixing etc. complete in all respects including cost of all necssary fittings as required, jointing materials and two coats of painting with approved paint in amy position above groung. (Payment will be made on the centre line measurements of total pipe line including all specials. No seperate payment will be made for accessories, specials, payment for painting will be made separately). (For Exposed work)	40.00	m	292.00	11680.00
23	Dismantle old S.W Pipes including breaking of				
	joints and bed concrete stacking of useful materials near the site within 50 metre and				
	disposed of unserviceable materials into  Municipal dumps				

24	Provide and lay cement concrete (1:2:4) with graded jhama khoa (20 mm size) excluding shuttering in ground floor and foundation	1.00	cum	5,533.34	5533.34
25	Supplying, fitting and fixing with cement jointing (3:1) salt glazed stone wire pipe including excavation of earth up to 1.50 metre depth in all sorts of soil both mixed or unmixed and refilling (but excluding concrete at bottom and sides)				
	(a) 150 mm dia.	20.00	m	334.00	6680.00
26	Supply, fit and fix in position reinforced cement polymer concrete manhole / gully pit cover with matching frame as per 12592(M.D.) of 5 MT load bearing capacity round manholes cover provided with two lifter hooks with matching frame of size  cover 565 mm x 65 mm	5.00	Nos.	2,582.00	12910.00
27	frame 665 mm x 125 mm (opening 470 mm )  Labour for lowering G.I water storage tank upto and including 1812 litres capacity.  From 2nd Floor to Ground Floor.	4.00	Nos.	407.00	1628.00
28	Labour for hoisting Plastic water storage tank and stack upto 1500 litres capacity. From 2nd Floor to Ground Floor	6.00	Nos	139.00	834.00
29	Provide and fix gun metal spring type vertical check valve for				
	(a) 100 mm	2.00	Nos.	3146.00	6292.00
30	Supplying, fitting fixing best quality Indian make Mirror 5.5 mm thick with silvering as per I.S.I specification supported on fibre glass frame of any colour, frame size 550 mm X 400 mm.	5.00	Nos	613.00	3065.00
31	Providing, fitting and fixing 480 mm dia approved quality Polythene tank cover with hinges bolts & nuts including making holes, if required, at the existing tanks over of the roof at any height including scaffolding if necessary as directed	25.00	Nos	261.00	6525.00
32	Dismantling urinal and providing and fixing 470 mm X 280 mm X 340 mm flat back Urinal (Half Stall Urinal) in white vitreous China ware of approved make in position with brass screw 75 mm X 75 mm X 75 mm wooden blocks complete.	6.00	Nos.	978.00	5868.00
33	Supplying P.V.C water storage tank of approved quality with closed top with lid (Black) - Multilayer				

	) 1500 litre capacity	6.00	Nos	7840.00	47040.00
in di	ismantling R.C Floor, roof, beams etc. cluding cutting rods and removing rubbish as rected within a lead of 75 m including stacking f steel bars in ground floor including roof	2.00	Cum.	1956.00	3912.00
or bu re wi in tro	arthwork in excavation of foundation tenches drains in all sorts of soil (including mixed soil at excluding laterite or sand stone) including amoving, spreading or stacking the spoils ithin a lead of 75 m as direction. The items acludes necessary trimming the sides of enches, levelling, dressing and ramming the ottom, boiling out water as required complete. epth of excavation not exceeding 1.50 m	20.00	Cum.	11927.00	2385.40
pi	roviding lead caulked joints to spun iron or C.I pes and specials, including testing of joint but acluding the cost of pig lead.				
(a	) 100 mm dia	5.00	Nos.	204.85	1024.25
(b	o) 150 mm dia	5.00	Nos.	307.60	1538.00
©	200 mm dia	4.00	Nos.	408.00	1632.00
(d	l) 250 mm dia	4.00	Nos.	509.70	2038.80
37 St	upplying pig lead at site of work	1.00	Qntl.	10464.50	10464.50
su vi in tra	ismantling E.P or Anglo-Indian W.C and applying fitting & fixing E.W.C in white glazed treous Chinaware of approved make complete a position with necessary bolts, nuts etc. with P ap including plastic (Hollow type) black closet eat of approved make with lead and C.P.hinges rubber buffer and brass screw complete	5.00	Nos.	1768.00	8840.00
m	upplying, fitting & fixing C.P over brass 25 m dia 600 mm long Towel rail with two rackets	6.00	Nos	430.00	2580.00
bl le: sc	upplying fitting and fixing plastic (hollow type) ack E.W.C closet seat of approved make with id and C.P Hinges, rubber buffer and brass crews complete	10.00	Nos.	302.00	3020.00
C.	roviding fitting and fixing the following dia .I.J.P Coupling (Mechanical Joint)				
	) 250 mm dia	5.00	Nos.	2207.00	11035.00
	) 200 mm dia	5.00	Nos.	1527.00	7635.00
`	c ) 150 mm dia	15.00	Nos.	1293.00	19395.00
`	) 100 mm dia	15.00	Nos.	928.00	13920.00
(e	e) 80 mm dia	10.00	Nos.	837.00	8370.00

42	Supplying G.I. tank with Galvanised iron sheet with 450 mm dia C.I. raised				
	approved type locking cover and 50 mm cleaning flange and plug.				
	(a) With 2 mm thick G.I. sheet				
	(i) 1812 litre capacity	2.00	Nos	16075.00	32150.00
43	Removing sludge from septic tank, soak well etc. by methor labour including disposal of the same outside the compound as directed.				
	© Upto 50 users :				
	(i) Beyond a lead of 150 metre and outside the municipal limit	8.00	Nos	3303.00	26424.00
44	Supplying, fitting and fixing PVC pipes of approved make of Schedule 80 (medium duty) conforming to ASTMD - 1785 and threaded to match with GI Pipes as per IS: 1239 (Part - I). with all necessary accessories, specials viz. socket, bend, tee, union, cross, elbo, nipple, longscrew, reducing socket, reducing tee, short piece etc. fitted with holder bats clamps, including cutting pipes, making threads, fitting, fixing etc. complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint in any position above ground. (Payment will be made on the centre line measurements of total pipe line including all specials. No separate payment will be made for accesories, specials. Payment for painting will be made seperately)  (a) For Exposed Work PVC Pipes  15 mm dia	60.00	Mtr	101.00	6060.00
	20 mm dia	40.00	Mtr	129.00	5160.00
	25 mm dia	40.00	Mtr	177.00	7080.00
	50 mm dia	30.00	Mtr	384.00	11520.00
	100 mm dia	15.00	Mtr	1134.00	17010.00

45	Labour for fitting and fixing high density polyethylene pipes or P.V.C.pipes for above ground work including cost of jointing materials paints etc. fitting and fixing all necessary specials, cutting pipes, making threads, cutting holes in walls or R.C. floor where necessary and mending good all damages excluding the cost of masonry or concrete work, if necessary, but including the cost and fitting and fixing holder bat clamps(any floor) or for underground work including cutting trenches upto 1.5 metre andrefilling the same complete as per direction of the Engineer-in-charge.(Payment will be made on centre line measurement of the total pipeline including specials.)  15 mm dia.	60.00	Mtr	26.00	1560.00
	20 mm dia	40.00	Mtr	27.00	1080.00
	25 mm dia	40.00	Mtr	28.00	1120.00
	50 mm dia [Ref:- Plumbing Schd. A/(II)/19 (I) (a,b,c and e)] Page -11	30.00	Mtr	40.00	1200.00
	100mm dia	15.00	Mtr	58.00	870.00
46	Supplying, fitting & fixing UPVC pipes A- Type and fittings conforming to IS:13592-1992 with all necessary clamp nails, including Making holes in walls, floor etc. cutting trenches in any soil through Masonry concrete structures etc if necessary and mending good damages including joining with jointing Materials (Spun Yarn, Valamoid/bitumen/M-Seal etc) complete.  UPVC Pipes: 160 mm. Dia	50.00	Mtr.	485.00	24250.00
46	Bend 87.5 degree 160 mm. Dia.	10.00	No	346.00	3460.00
47	Shoe 160 mm. Dia.	10.00	No	305.00	3050.00
48	Cleaning and disinfecting upto 2000 litre Water Tank including masonry reservoir.	250.00	No	155.00	38750.00
49	Cleaning and disinfecting above 2000 litre Water Tank including masonry reservoir	700.00	Cum	88.00	61600.00

50	Pumping out water from ponds or	190.00	Cum	1044.00	1983.60
	tanks.(Payment if permitted will be made on the				
	quantity of water calculated on the basis of				
	initial water level and				
	final level on consideration being made for any				
	water that may have been added through				
	percolation or				
	otherwise)				
51	Painting block letters or digits in Black Japan or	600.00	Nos	10.00	6000.00
	any				
	approved paint as per direction.				
	c) Size above 4 cm. and upto 5 cm.				
				Total = Rs	1047291.64

# B.F from pre page

(Rupees Ten Lakhs Forty Seven Thousand two hundred ninety one and paisa sixty four only)

# Tenderer to fill up the following [score out which is not applicable]

(a)	% (in figures)						
	(III figures)						
		Percent					
	(in words)						
(b)		At par	NIL				
(c)	%						
	(in figures)	Above par (+) Rs.					
	(in words)	Percent					
		Total Tendered Amount: Rs.					
Total t	endered amount (in words						
	(						
[Thor	orices quoted shall be including all st						
	_	-	-				
Maximum number of workmen likely to be engaged in days work numbers							
Perma	nent Income Tax A/C.No						
Date:							
		(Signature of Tenderer)					
	amount of tender, completion time and over to Form of Tender attached]	nd preliminary time as quoted / s	tated above are to be				
À	ss: -  Jame in block letters)  ddress:  ccupation:						

### All other terms and conditions of the tender shall remain unaltered.

The last date of submission of tender and the date of opening of Techno-commercial bid would remain unchanged.

The above Corrigendum shall be a part of the Tender Document as per terms of the original tender and the same shall have to be submitted along with the techno-commercial part of the tender.

Dated: 12.07.2023

Superintending Engineer (KPD)